3 / 6 S 4 3 2 ]

ITEM #PART NUMBER|CONFIGURATION|REV DESCRIPTION MATERIAL |QTY
1 NUT-CN 1032-X Steel Cage Nut, #10-32 Thread PURCHASE PART| 50 | F

2 PKG-10041 6x6 PERFORATED AUTO-POLY BAG PURCHASE PART| 1

RREEERIEIEIEIE
D D
PRREEEEIEIEE) 20X

CEEEERREEE]
RREEEREEEE)

0"
i
ol
"

A

o)\
i
ol
7

(efepegege;
/e
O

@,/_

pe7

(oo
AT AT AT
(OO Cj o) ey

AN

SEEEE R R

SERIES/FAMILY NUMBER: CONFIGURATION (SEE TABLE DETAILS/"X" DENOTES COLOR): COMMENTS/FOLDER PATH:

RX L_2049 X 103 2050 B:\RXL Inc\RXL Engineering - General\RXL\Section 2 - Open Racks\RXL-2049 Cage Nut Kit\

DESCRIPTION: .
UNLESS OTHERWISE SPECIFIED: | MATERIAL: FULL PART NUMBER:

#10-32 Cage Nut, QTY50

PROPRIETARY AND CONFIDENTIAL: DIMENSIONS ARE IN INCHES RXL-2049-X1032050
THE INFORMATION CONTAINED IN THIS :gkg?%“&f} ff/g; FINISH: DRAWN BY: Jackson Chong A
RnevgéﬁRGSSDLIéEISCJ?\ILIIENPEgg_llé%Tg/_(\)sFARXL. REVISION DATE REVISION DESCRIPTION: ANGULAR: +1° PAINT DRAWN DATE: 2/18/2019
WHOLE WITHOUT THE WRITTEN A 2/18/20 19 |n|t|a| TWO PLACE DECIMAL +0.03 WEIGHT: SURFACE AREA: DO NOT SCALE DRAWING DRAWING SIZE: B
THREE PLACE DECIMAL +0.030 0.68lbs. 175.23in.2 Scale: 1:4 SHEET 1 OF 2

PERMISSION OF RXL IS PROHIBITED.

3 / 6 S 4 3 2 1



3 / 6 S 4 3 2 ]

ITEM #PART NUMBER|CONFIGURATION|REV DESCRIPTION MATERIAL |QTY
1 NUT-CN 1224-X Steel Cage Nut, #12-24 Thread PURCHASE PART| 50 | F

2 PKG-10041 6x6 PERFORATED AUTO-POLY BAG PURCHASE PART| 1

RREEERIEEIEIE
D D
CREEEEEIEIEE) 20X

ClEEEERREEE]
EREEEEEEEE)

0"
i
ol
"

A

o)\
i
ol
7

(efepegege;
/e
O

@,/_

pe7

(oo
AT AT AT
(OO Cj o) ey

AN

SEEEE R R

SERIES/FAMILY NUMBER: CONFIGURATION (SEE TABLE DETAILS/"X" DENOTES COLOR): COMMENTS/FOLDER PATH:

RX L_ 2 049 X 1 2 2 405 O B:\RXL Inc\RXL Engineering - General\RXL\Section 2 - Open Racks\RXL-2049 Cage Nut Kit\

DESCRIPTION: .
UNLESS OTHERWISE SPECIFIED: | MATERIAL: FULL PART NUMBER:

#12-24 Cage Nut, QTY50

PROPRIETARY AND CONFIDENTIAL: DIMENSIONS ARE IN INCHES RXL-2049-X1224050
THE INFORMATION CONTAINED IN THIS :gkg?%“&f} ff/g; FINISH: DRAWN BY: Jackson Chong A
RnevgéﬁRGSSDLIéEISCJ?\ILIIENPEgg_llé%Tg/_(\)sFARXL. REVISION DATE REVISION DESCRIPTION: ANGULAR: +1° PAINT DRAWN DATE: 2/18/2019
WHOLE WITHOUT THE WRITTEN A 2/18/20 19 |n|t|a| TWO PLACE DECIMAL +0.03 WEIGHT: SURFACE AREA: DO NOT SCALE DRAWING DRAWING SIZE: B
THREE PLACE DECIMAL +0.030 0.68lbs. 175.23in.2 Scale: 1:4 SHEET 2 OF 2

PERMISSION OF RXL IS PROHIBITED.

3 / 6 S 4 3 2 1



	X1032050
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View14

	X1224050
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18


